NMpoooeyyYLotTikol AAYOpLOWOL

METPO TOLOTNTUG AVCEWY

oAY. A: I — fa(I)
f(I) : PEATLOTN AVOT YLOL TO OTLYULOTUTO [

o OTTOALTO AXVOC

e™= | F(I) — fa(D)|

® OXETLKO AXDOC

o LD = fa(D)]
=R

> LVTEAEOTNC anddoong (approximation ratio)

%((II)) =14¢&" (Minimization)
p = ]{4((11)) =7 _1€r (Maximization)
i _ |worst(I) — fa(D)]

= ¢

— differential ratio
l\worst(I) — f(I)| ( )
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Vertex Covering (VC)

e [pdpog G = (V,FE)

e No Ppedel uvtoocVvoAo V' C V £TolL WOOTE

— V[vi,’uj] EE=uv eV D vV € Vv
—  Kkou |V'| eAdxLoTO

\V/
G=(VE) ! 2
IVI=6
E=8 V6 Vs
Vl V2
V=LY
V6 V3
VA v,
Vl V2
V=Yg
V6 V3
V'’ minimal
Vs \




Heuristic 1

eloodocg: G = (V, F)
egodog: V! C V (covering)

begin
V=10
while E #= () do
ETULAELE v € V {uE u€yLoTO PAdud}
9¢oe v oto V'
dLAYpoPE TLC MPOOKELMEVEC OTO v TTAEVPEC
end

MoPAdELY LA

optimal solution ———= / \
® O
b4

9y

p=1/4

r covering not minimal
OQOAUQ: €= 25%
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To Addocg umopel va ebvol TMLO UEYXAO;

- "c- Koppor™”
n+2

<~— "b- koppor”
n+2

-~ "a Kopupot"
n

d(a'z) - 57 7:21727 y T
dib,) = 4, i=1,2,....,.n+2
dl¢;) = 1, i=1,2,...,n+2

optimum— |V/| =5 (n+2)
heuristicl—s |V'| = 8 (n4+n+2)

approximation ratio = int = an_|-_|-22 y 2

Addoc e = 100%



To A&dBoc umopel va Eemepdoel To 100%:;

MopddeLyua

~—"Cc-Koppot"
n

~—"b- koppot”
n

~—"a Koupor"

=" [lpbobeoce evay ' o-kKOUPO ' yvLa kKAOe
OUVUVOAO Ot KAVE dLoULEPLOM

'b-koupPol’'— 3 couples
'b-kOupPoL’— 2 triples

'b-kOoupPoL’'— 1 4-uplet
'b-koupPoL’'— 1 5-uplet

approximation ratio=1 + %
AGO0c>100%



Approximation ratio
(heuristic 1)

O teAevTUlOC 0-KOUPOC €XEL TTAVTA TO UE-
YOAAVUTEPO PUOUO’
AVOM heuristic=

[{o-koupoL}| +n = L(n) +n
BEATLOTN AVON =

[{b-koupoL}t| = n

:L(n)—l—n:l_I_L(n)
= L(")Lm—zu
n | 6 10 30 100 1000

(%)X 1117 160 267 380 600

a0Enon In(n)



Approximation ratio
(Heuristic 1)

e Elcodoc: G=(V,F)

e EEodoc: Covering C of G

begin
c:=10
while E # () do
{emnlAeCe [u,v] € E Tuxolo
v€oe u kKoL v oto C
oLdkypade u kKoL v antd To G

}

end
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Approximation ratio
(Heuristic 2)

p =2
A&Goc to TOAV 100%!

o K&AOE emLkKAALYPN TEPLEXEL TOVAXXLOTOV
EVAY KOUPO ATO ETLAEYMUEVY) TTAELPA

o Kol emLkdAvdn dev umopel va elvow
ULkpOTEPN oMo 5C

AVomNn Heuristic=C

BEATLOTN AOON > 5C
_ Heur C __
P="opt S iC 2

= TO UEYLOTO AXDOC ETMLTUYXAVETOL YLO
KATOLO OTLYULOTUTO;



Traveling Salesman

(Problem (TSP))

TTmAeXeL €vog Hamiltonian KOKAOC UECO O€

eva dedouevo yYpdpo G = (E

V),

Y

(NP-complete)

10



G=(ViuW,E)

V1 U Vo| — wovocg (OxL Hamiltonian)
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